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1 ER (LETR 5 T=Y DTS %)
(1) Jmke
— A& JE R 55,795 =
FE R 39,062 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 12,7107 =

(2) &

AN (NTBERH LS (ZDH)) 975 =
AR (AITERH LN (EE)) 1,337 =
N (ANIEHRH) 0,934 =
AR 7183 =
INRF 911 =
AEs 1,130 =
B oEl 920 =
LR 018 =
A PR 25 1 713 =
EEIR AR 1,898 =
AR% 1,085 =
H 5 IRAWER 91 =
2 ®\H 1,248 =

3 EB 1,206 =
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1 ER (LETM HHT-Y DS
(1) mkE
— % B 95,040 =
T 40814 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 68,049 =

(2) &

AN (NTBERH LS (ZDH)) 1,143 =
AR (AITERH LN (EE)) 1,268 =
N (ANIEHRH) 11,942 =
AR 3,091 =
INRF 836 =
AEs 2019 =
B oEl 1,071 =
LR 604 =
A PR 25 1 706 =
EEIR AR 1,623 =
AR% 972 =
H 5 IRAWER 107 =
2 ®\H 1,206 =

3 EB 1,167 =
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1 ER (LETM HHT-Y DS
(1) Jmke
— AR 54998 =
i 43,078 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 76,680 =

(2) &

AN (NTBERH LS (ZDH)) 1,202 =
AR (AITERH LN (EE)) 1,311 =
N (ANIEHRH) 6,650 =
AR 832 =
INRF 1,029 =
AEs 1,590 =
B oEl 1,225 =
LR 644 =
A PR 25 1 941 =
EEIR AR 1,971 =
AR% 1,182 =
H 5 IRAWER 713 =
2 ®\H 1,368 =

3 EB 1,091 =
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1 ER (LETR 5 T=Y DTS %)
(1) Jmke
— A& JE R 57,807 =
FE R 41951 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 712,671 =

(2) &

AN (NTBERH LS (ZDH)) 1,197 =
AR (AITERH LN (EE)) 1,385 =
N (ANIEHRH) 11,037 =
AR 1,241 =
INRF 1,031 =
AEs 1,466 =
B oEl 1,281 =
LR M3 =
A PR 25 1 1,038 =
EEIR AR 1,568 =
AR% 1,197 =
H 5 IRAWER 710 =
2 ®\H 1,338 =

3 EB 1,127 =
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1 ER (LETM HHT-Y DS
(1) mkE
— % B 94,546 =
Hh 39,283 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 71,882 =

(2) &

AN (NTBERH LS (ZDH)) 1,165 =
AR (AITERH LN (EE)) 1,388 =
N (ANIEHRH) 3,949 =
AR 1,348 =
INRF 1,020 =
AEs 1,128 =
B oEl 1,199 =
LR 612 =
A PR 25 1 1,001 =
EEIR AR 1,153 =
AR% 1,014 =
H 5 IRAWER 703 =
2 ®\H 1,269 =

3 EB 1,087 =




